2A: 0l4&tH
M 0laHH AlSZH(LESSHT/LHT)
2t OlatH 2te| (ehel: =3
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES loﬂ/'\_FOH Hlw &2
0l AbRd 633,575 616,172 17,403
Ol&HH AP HHI(LEHSTHEY /LY Y) 490,847 478,948 11,899
|abet 22 150,477 138,578 11,899
H A2+ 12,473 15,500 A3,027
201 YLEr2H| 12,473 11,500 973
02 3322 12,473 11,500 973
Oss2dd(MRa)eal]
2,500 * BAIZb x fkd x 120 2,400
OAMRAHZ HZH|
1,2708 = 8AI2t » 1202 =« 3CH 3,658
O294 H2 A=Y
1,270&  * 8AIZ2F » 302 ~+ 30 915
OAHERX 2l 1,500,00080 * 14l 1,500
OX sl 2,000,00080 * 2CH 4,000
saAsF 2tel 4,862 4,730 132
101 21 24H| 1,832 1,750 82
04 JIZHHMZ22USES 1,832 1,750 82
OdtAge olf 36,6408 = 19 x 502 1,832
206 M2 1,490 1,440 50
01 X2t 1,490 1,440 50
OslgR 1,860& * 1004 186
0oF = 1,6902 * 1504 254
Otk 2,5002 = 3004 750
onMg=ssg =H8E T3
5,000&8 * 5& » 128 300
307 212+0I & 1,540 1,540 0
01 ol2YP2H| 1,540 1,540 0
O#oZel 2SHl 15,0008 = 38 « 128 540
OOIAFZ X &b 500,0008 * 23 1,000
Hots |2z 39,560 31,768 7,792
201 YLEr2 | 39,560 31,768 7,792
02 SS2gH 39,560 31,768 7,792
OJt2s, BotE HIIR3
6,000 * 4305 =* 12¥ 30,960
OJtz2s, Eots 2l
50,0002 * 4305 * 40/100 8,600
[EZAS ALY 21,683 15,190 6,493
101 @124 14,511 12,460 2,051
04 JIZHM22UEE S 14,511 12,460 2,051
Ok=z48 & Mg 240 =2
36,640% =+ 4%H + 132 « 33 5,716
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A 0l&HH
A OlAH AlABH(LSSHE /Lt d)

SHl: 0lAtEl B (e @
. - o MG =
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
OREDASIAIY (B, TAX2el)
36,6402 * 108 = 102 « 13l 3,664
OZINESIH L BAX BT
36,6402 * 3% * 202 * 13 2,199
OBAIHl QLAY
36,6408 * 12 x 80Y 2,932
206 T 2 7,172 2,730 4,442
01 T2 bl 7,172 2,730 4,442
OB, Y422l 5 YUAH 7L
10,0002 * 105 100
OBZ, A+l JIE HPTPE 7Y
5,008 * 55 * 43 100
OBY, TP+l €l < H272Y
5,0008 * 5% * 43 100
OSEE Y| LR 2
1,8602 * 2004 372
OFHASHY SHEY +27Y(HLE)
30,0008 * 50% 1,500
OSHE SMQUs (EM BUS ATHAIY
10,0008 * 5002 5,000
ZOIXR Oler s 71,899 71,390 509
201 L2 Y| 509 0 509
02 ZZ2H| 509 0 509
OgHE TV IR
53002 * 8M4 * 128 509
204 B 248 2| 2,400 2,400 0
03 ST LAYl 2,400 2,400 0
ONREYZ2 10,0002 * 2% * 122 2,400
301 YR A 68,990 68,990 0
055 2 - HHHEBHS 65,570 65,570 0
OJI=E4g 20,0008 * 15 * 198 * 128 45,600
O&0i2 200,008 * 28 * 192 * 12 7,600
O3lol&42g 20,0008 * 23] * 198 + 129 9,120
Opr& g 50,0008 * 13| * 653 3,250
10 SALAIHI 24 2 3,420 3,420 0
O2lgas €2 S SFAT AN
5,008 * 57% + 12® 3,420
APD FOABAAY 340,370 340,370 0
ATD FOBAAY 340,370 340,370 0
401 Al S HI 2 2| 340,370 340,370 0
01 Al &bl 337,000 337,000 0
OARR FYH A
337,000,008 * 14! 337,000
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SN I SRI(S) - NRAY - B sk S 2t
0f 4 o8
03 A2 2 0Hd| 3,370 3,370 0
OATR FOIFUAY ALY
337,000,000& * 1/100 3,370
MY 2HZHI(0I&SH)(DIEH/IIEH 142,728 137,224 5,504
QIR A 48,856 45,100 3,756
A=A 48,856 45,100 3,756
101 21 2| 48,856 45,100 3,756
01 E= 48,856 45,100 3,756
OAIIZ2=E
8,078 = 14F » 36AI2t » 123 48,856
| =&l 93,872 92,124 1,748
Jl2&ZH| 93,872 92,124 1,748
201 ZEt2FH| 34,792 32,894 1,898
01 AtR2tel 27,224 26,034 1,190
O=AE X 7| 13,0003 * 142fA « 128 2,184
OE20AHl
5,000& * 148« 12&8 2,520
Oggteg 100,000& = 123 1,200
OL7A2 S 50,000& = 12& 600
Og&=+H 13,300
—=xg 30,000& * 19H * 250 7,500
— YA 50,000& » 1& * 116 5,800
OLAaL2s4H] 6,580
—= Al =2l 500,000& * 1CH 500
— gl 2l 100,000& = 4CH = 50/100 200
—SAMI EH 200,000& = 53 * 104 1,000
—ZElH(5E8) EH  200,000& * 53 = 4CH 4,000
—PC==2l 100,000 = 14CH = 20/100 280
—JIEf&Hl==2c] 50,000& = 128 600
OJIEH At 22]H| 5,000& = 14% » 123 840
02 2324l 7,568 6,860 708
Oz332= & HAl 7,568
—REL3 150,000& = 12& 1,800
—REYSMES 9,000& =+ 123 108
—&EA MRS 350,000& = 123 4,200
—HIItMEE =2 100,000& * 23l 200
—SZMERE=S 50,000& * 23| 100
—dax Ea =8 200,000& * 13 200
— &6tk 23 30,000& * 12& 360
—dHzZzsl=:f &
50,000& + 12& 600
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A 0laH

HH: HA2AAHI(01&EH)(IIEH/DIIE)

2 D23l (&9 ®M
= xH ol (5 SALO] . HA 2 OH HE b
SAN-ZH-SA(FA) - NFAY - BES e Ol Ak O 2

202 01 45,920 45,920

01 LA 3,920 3,920
AR IO 70,0008 * 14F = 43 3,920

02 & 04l 42,000 42,000
O A0 250,000& = 148 » 123 42,000

203 R =2 10,160 10,160

01 J|22d P 2=48H 6,600 6,600
OHE JI&22IHRF=48Hl 6,600,0008 « 1H 6,600

02 HA ISR F A 560 560
OF L2 ETY| 40,0008 * 14% 560

04 EM2E I 2= 3,000 3,000
ORAN2IHRF4HI 250,000& = 123 3,000

204 MR =HHH| 2,400 2,400

01 SR A 2,400 2,400
OXUTHLLH A 2,400
—oE 150,0002 * 12 » 128 1,800
—FHE 50,000& 18 » 123 600

405 XHaHE S 600 750

01 XAt =SEFH=HI 600 750
OAMEE 2Kt 150,000& 404 600
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